
or           ?
• 177K events from Run 1518 

• Requirements: 

• lowest energy cluster > 500 MeV 

• two or more blocks hit in both the high and 
low energy cluster 

• cluster time difference < 5 ns 

• both clusters > 20 cm from beam line 

• FCAL energy < 6 GeV 

• Notes: 

• low mass background strongly dependent 
on cluster separation cut (no cut made) 

• clusters in peak come from all over FCAL 

• need to verify energy scale by either  
E/p or second (η or ω) peak

 / ndf 2χ  107.3 / 83
p0        5.78± 97.22 
p1        0.00161± 0.07316 
p2        0.00260± 0.02808 
p3        5.9±   103 
p4        32.5± -451.5 
p5        43.4± 501.5 
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mass {(eL>=.5)&&(nHitL>1)&&(nHitH>1)&&(dt<5)&&(eTot<6)&&(rL>20)&&(rH>20)}


